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iR 050 U1+ x zl+%x,ﬁ&

J1.05=+/1+0.05 z1+% x0.05=1.025

HAZIT T Ei R
J1.05 =1.02470.
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* FESHMTRIX A

LR f(X) ZERX R FH RS (X,),
M dy = £'(X,)(X = X,) RexHI S R %, B 1
%XWER Sy b, BRI,

s lim dy = I|m f'(X,)(X=X,) =

X— X

2. MILHEXLEE% f'(x,) /& % y = f(x)1E
(X, T (X)) EVILIIRLZR, M dy = £'(x,)

(X — X, )RME y= (X)L (X, T(X,)) R
HIEE R X, R LRIl &
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AT LRI A 22 3
4 AXAR /N,
Ay

zdy ; == f'(xo).AX

f(x)= T(X,)+ f'(XO)-(X— Xo)s
Hx = O,
f(x)~ f(0)+ f'(0)- x.
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BESEY]

L BA—EEY = T(X)EX 8T HEST
FHAFNE, FIARAR “Urst T, F
BkAMR" , XWEsG?

SN pIER R s,

) 3% Y= y(x);g\@ﬂix +Y -sindi+6y=0t 7
)j'{dy‘x:O'

fENk: P123 3: (3,7,6, 8);
P124 4;10.
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